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QUESTION PAPER SPECIFIC INSTRUCTIONS
Please read each of the following instructions carefully before attempting questions.

There are EIGHT questions divided in TWO SECTIONS and prmted both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to and if answered in much longer
or shorter than the prescribed length, marks may be deducted.

Graphs/illustrations, wherever required, may be drawn/given in the space provided for answering
the question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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1.(a)

1.(b)

1.(c)

1.(d)

1.(e)

| 2.(a)

2.(b)
2.(c)

3.(a)

Yusg ‘A’ SECTION ‘A’
formfafaa Tt A9 &1 SR ST 150 Wsal | ST |

Answer the following questions in about 150 words each. 10x5=50
TR & 739 T 74%mﬁmﬁ$mﬁa¢ﬁ§r§w%§mmﬁ—ﬂav&reﬁﬁmqaﬁm
G & Tl o1 foRgd St Hiig |

Explain the salient features -of 73rd and 74th Constitutional Amendments in India
and elaborate the impact of its implementation. 10

T A9 =W FER A wewa @ fF eRa @i & wower s Sard ¥ & 9y
FeUehlieieh AT ? RO dfed STX GIfST |

Do you agree with the view that an increase in the productivity of agriculture as a
result of Green Revolution was only short-term ? Give reasons. 10

R ¥ Tl srefeeen Afea sum & e qur R affe qeiar = 9 ?

What were the economic and non-economic rationale for adopting mixed-economy

model in India ? 10
ARGt fedig d=asig gismr 6 gowa e 6t fad=e i |
Discuss the basic features of the IInd five year plan in India. 10

fafesr T & o el § <ATIR A & TG ERET & IR TR 4T ¥ ? Ieed
HifTa |

What were the economic consequences of discriminating protection in the trade
policy during British Regime ? 10
AT § 4 ht FErtera femtor aikferfaat 1 auiq i | g @wed € Ton st
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Discuss the manufacturing condition prevailed during pre-independence period.

Do you feel that private sector did not come forward for investment due to fear of
Nationalisation ? Give reasons. 20
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Critically examine condition of Agriculture and rural economy during the pre-
independence era. 15
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Ui HIY |

Discuss the Wage-Goods model of development as gwen by C.N. Vakil and
P.R. Bramhanand. 15
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Critically examine the difference between absolute poverty and relative poverty.
Between the two which is more appropriate ? Give reasons. T 20
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3.(b)

3.(c)

4.(a)

4.(b)

4.(c)

5.(a)

S.(b)
S:(c)
5.(d)

S.(¢)
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Explain the major tools for measuring inequality. Highlight the more appropriate
method of measuring inequality. 15
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Examine the implications of Trade Related Intellectual Property Rights (TRIPS) on
Indian Economy. 15
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What is ‘Crony Capitalism’ ? Is it true that almost all Developing Countries are
facing the threat of ‘Crony Capitalism’ in their development efforts ? 20

e | Si.ug.al. foa @ aega fou s qun i fog s R faftr wspat 1 seo@
HINT | 7% QU & TSI GIgieu # fohd TehR HRTEaT el © ? auid hifig |

Examine the process of introducing and passing GST Bill in Parliament. How it
helps in Fiscal Consolidation in the country ? Ii5)

W%Hﬁmawﬁmﬁﬁmﬁ%ﬁaﬁaﬁﬁﬁmmaﬁwaﬂw
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What were the major hurdles to development as experienced in India during first
decade after independence ? Discuss them and what steps were taken to remove
them ? 15

qus ‘B’ SECTION ‘B’
frfafad T 9sT &1 SR e 150 gt # <y |
Answer the following questions in about 150 words each. 10x5=50
“fava sfemeaR & WY WY Ui SR AdSEed & FASH AN Gt o
IREAET § oA el Hohd | | GHIA AT faaxor g |

“Partial Capital Account Convertibility cannot serve the purpose of integrating

Indian Economy with World Economy”. Critically examine. 10
TR SeReTidea sifafras’ Y T fasiwreit o foero gega = |

Critically examine the salient features of Fiscal Responsibility Act. 10
g @ e sttt 2013 6 ge fasiamst i fere wega w1
Examine the basic features of the National Food Security Act 2013. 10

HRA GRSl AT 3.0, 3. TH. (EXIM) i it e fassamsit o wehrsr eifery |
Bring out the salient features of New EXIM policy of Government of India. 10

‘e fear’ TR e o afe’ R G f Rl |

Write short notes on “Skill India” and “Make in India”. 10
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SHAPING BRILLIANCE

6.(a)

6.(b)

6.(c)

7.(a)

7.(b)

7.(c)

8.(a)

8.(b)

8.(c)

ARG 1 Hifgeh Afq 61 et & T H TGHT ST Tl Tl © G QU b
ﬁwsrmaﬁﬁﬂﬁwﬁ@w%wwﬁmwﬁm%m
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Monetary Policy in India is often criticised as ineffective because large part of the
country is not yet monetised. Do you agree with the view ? Give reasons. 20

SRS Hle & HRA | R-<Afh Tty deermsti & fomm & sRer 7&a Sy 3R
fistef <feh <t =ATST GX A1t oh SHTERiTeT X g6k Hergd bl ferar i |
Trace the development of Non Banking Financial Companies in India since the

liberalisation era and comment on their impact on the effectiveness of the interest
rate policies of the RBI. 15

Wﬁﬁiﬂ%ﬁwéﬁﬁaﬁﬁaﬁﬁ%ﬂwmwww
frerg 7 avia iy |

Explain how Railways played an important role in unifying the people of India
during pre-independence period. 15
AT AT o GIAT ARG o HIEST(eh &1 i HHTERMS SoddT | el H(HeAT o Tidie
T T HIGT | T A AT AT et AT ? A9 ST & UL H TISE HRT G |

During post-independence era India assigned the role of ‘Commanding Heights’ to
the public undertakings. Should this policy be continued ? Give reasons for your
answer. 20

ST AT o SATeheld # Al h.3R.EL. T4 & anreE ot fee=mr ifstg |

Explain the contribution of VK.R.V. Rao in the estimation of National Income.
115

1991ﬁwmmﬁéaﬁ@ﬁ%ﬂ%%ﬁﬁw@qﬁaﬁﬁm
T SifStg |

Critically examine the major changes in FDI policies of the Government of India
since 1991. | 15

T XTSI AT ASTIR TRET AT 6l FANS [HINTAE 6T & ? SeAch hiAiv=ad § <
4T € 7

What are the basic features of new national rural employment guarantee scheme ?
What are the impediments in their implementation ? 20

“piy-verfie (TheeR afset) ue sl wa amifise faug ¢ e @R & 38 ®
Feroforcres fofa o9 & wfeaE st @ g 17 |
S9YTh HUF W A fowur wEge |

“Agriculture Subsidy is both an Economic as well as Social issue, hence the

Government finds it difficult to take a decisive decision”.
Comment on the above statement. B

e % 6T & wad W g (SILH.) F Sl e o aftacdt @ At A |

- Discuss the changes in the sectoral composition of GDP in recent years. 15
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